Practical Management Science, 2e
Albright, Winston
We tried to correct all the typos, bad numbers, wrong solutions, and so forth from the first edition, but with so many details, we probably missed a few. As we (or you) find errors, we'll list them on this page by chapter. Note that if there is an error in a solution file for some problem, we will try to indicate a way to fix the error without "giving away" the solution to students who might be reading this page.
Note: The date of the correction is listed.
[bookmark: Ch1][bookmark: Ch2]Chapter 2
1. (10/18/00) The Excel formula about two-thirds down page 55 should have a minus sign next to BuildingCost. 
1. (2/19/01) The solution to problem 3 part (c) has an error in cell B34. The reference should be to cell B32, not B13. 
1. (8/5/02) Delete the last three letters (and) from the third formula in step 4 on page 32. 
1. (9/20/04) The BuildingCost range name in the list of range names used in Figure 2.25 on page 53 should refer to B23, not B22. 
[bookmark: Ch3]Chapter 3
1. (11/3/00) This isn't really an error, but in the SolverTable solution for problem 31, you might get different ending inventories, at least for the "0" row, from those in the solution file. This is due to multiple optimal solutions: several solutions give the same minimum cost. 
1. (7/18/01) Figure 3.20 on page 95 displays an incorrect range name. It should show StoreCap in the first constraint, not InvCap. 
1. (2/18/02) Table 3.5 for problem 3.24 on page 102 doesn't include all the input data you need to solve the problem. Here is a link to a "shell" file that contains the required data: Sh3_24.xls.
[bookmark: Ch4]Chapter 4
1. (7/18/01) On page 122, step 4, the formula "=MaxOTHrs*B21" should read "=MaxOTHrs*B20". In step 5, the formula "=StdRTHrs*B21" should read "=StdRTHrs*B20", and the formula "=SUM(B23:B24)" should read "=SUM(B22:B23)". 
1. (9/7/01) The solution (and shell) for problem 12 on page 131 omit the unit holding cost input, and the solution fails to calculate the total holding cost. This is straightforward to fix, but it changes the optimal solution. 
1. (11/20/01) The statement of problem 48 on page 161 refers to row 29 of Figure 4.24. The reference should be to row 28. 
1. (2/18/02) The solution to problem 104, page 182, that's included on the CD-ROM is actually the solution to problem 105. The solution to problem 104 is missing. If you are an instructor and need this solution, please get in touch with your Thomson representative. 
1. (3/21/05) The solution to problem 4, page 120, has two errors. First, it should maximize, not minimize. Second, it calculates the number of weekend days on, not off. The fix is straightforward. 
[bookmark: Ch5]Chapter 5
1. (10/18/00) Problem 76 on page 270 should refer to Example 5.10, not 5.5. 
1. (10/31/00) Figure 5.22 on page 218 shows the wrong "optimal" solution, although the SolverTable results at the bottom are correct. Here is a link to a corrected screen shot: Fig 5.22.
[bookmark: Ch6]Chapter 6
1. (11/13/00) The file Threads.xls that ships with the book for Example 6.2 has a different solution because the original unit selling prices weren't restored after running SolverTable. Just substitute the selling prices in the book into this file, then rerun Solver to get the results in the book. 
1. (4/16/01) Page 283, first paragraph: B5 >= C5 should be B9 >= C9, and second paragraph: B5+D5 >= 1 should be B9+D9 >= 1. 
1. (4/16/01) The shell and solution for problem 2, page 284, are evidently based on the 4-investment model from our first edition of the book. They should be updated to include all 7 investments for this edition's model (but the setup and logic aren't any different). 
1. (7/18/01) The Nickles.xls file for Example 6.3 uses a 35% interest rate rather than the 20% rate shown in the text. Change it if you like (and rerun Solver). 
1. (11/20/01) If you're reading very carefully, you'll notice that the inputs in Figures 6.1 and 6.6 (pages 279 and 283) are not quite the same. The investment cost in year 4 and the budget have changed. We didn't really mean to do this, and you might want to change the inputs in the model in Figure 6.6 for consistency. Of course, this won't change the logic at all. Also, the solution in the Instructor's CD-ROM solves only a 4-period model, not a 7-period model. Again, it should be easy to adapt it to a 7-period model for consistency with Figure 6.6. 
1. (12/3/01) In the middle of problem 34, page 298, it should read "shipping a loaf of bread", not "shipping a load of bread". Also, one user suggested that the unit shipping costs given in the problem are unreasonably high. He's probably right. Feel free to cut them in half or whatever. This won't have any effect on the model itself. 
1. (11/8/02) In the paper cutting model, Example 6.7, we omitted one feasible cutting pattern, (0,4,0,0,0,0). You can download the updated file: Cutting.xls. 
1. (2/23/03) The logical upper bounds in row 15 of the solution to problem 39 are too small from column C over. (Don't subtract the initial cash.) This will give a better objective value. 
1. (12/3/03) In the statement of problem 24 on page 296, the reference to plant should be to warehouse (in line 11).
[bookmark: Ch7]Chapter 7
1. (9/25/00) The conversion formula halfway down page 358 is slightly off. It should be 
=Const*(CurrRev/100)*(CallsPerPerson*100/CurrCalls)^Expon 
This results in a coefficient of 538, not 105, in the next line. Here is a link to the updated file: Pharmadex.xls. 
1. (4/16/01) Problem 44, page 390, refers to the Stock83.xls file. This reference should be to the P7_44.xls file included on the CD-ROM. Also, this file does not include the market returns mentioned in the problem. Here is an update: P7_44.xls. 
1. (11/27/01) The solution to problem 14, page 354, is incorrect. The cost of capacity should not be based on the sum of demands, but on the maximum of these -- exactly as in the similar example in the text. 
1. (12/3/01) The solution to problem 29a, page 363, is wrong. It uses the ABS function, which the "standard" Solver can't handle correctly. One way to get the correct solution (with objective value 360) is to use the same setup, but with Evolutionary Solver. 
1. (3/26/02) For problem 41, the label in cell A25 of the Part (b) sheet in the solution file is misleading. It should be "Downside risk" since that's what we're minimizing in part (b).
[bookmark: Ch8]Chapter 8
1. (9/15/00) The solution shown in Figure 8.2, page 406, has is the correct solution to the wrong problem. The unit selling prices in cells C7 and D7 should be $20 and $45 to match the problem statement (and to match the problem in Chapter 6). Here is the corrected file: GreatThreads.xls. Then the last paragraph on page 409 should be modified accordingly: "... Great Threads should produce only shirts for a profit of $11,000, ..." 
1. (10/18/00) The third line of part b on page 404 should read "the new Q1 in chromosome 2 becomes Q1=000101100 (or Q1=44)."
[bookmark: Ch9]Chapter 9
1. (11/10/00) In the solution to problem 9.18, the Sum formula in cell G29 extends one too many cells up. Change it in the obvious way and rerun the Solver to get the correct solution. 
1. (11/13/00) Wow, I must have been asleep on this one. There are a couple of errors. The model is logically all correct, but the numbers in the file don't match up with the numbers in the Burnit1.xls file on the CD-ROM. The easiest fix is as follows. First, switch the LIP and HIW labels in Table 9.1, page 451. Then go with the HIM goal of 65 million, not the 75 million shown in the file and in Figure 9.1. Here is the corrected file: Burnit1.xls. Other than the changes to Figures 9.1 and 9.3, I believe the only other change to be made in the text is the second line of page 453: change $775,000 to $750,000. 
1. (12/04/00) In problem 9.21, please change the coefficient of p in the selling function to 10. This will match the solution. 
1. (3/27/01)As a user correctly points out, Example 9.2 simplifies the finding of the extreme points of a trade-off curve. Our explanation, on page 465 of your book PMS, is incomplete. It is not sufficient to ignore pollution. When we ignore pollution, we indeed get the maximum profit, but not necessarely the one with the lowest pollution. A second optimization with the profit constrained to its optimal value has to be performed. 
1. (12/02/02) In the solution to problem 9.7, there should be a constraint to ensure that the number of junior employees assigned to job 1 is 0. Once you add this constraint and resolve, you'll get a significantly different solution. Also, although it's not really an error, it probably makes more sense to state that workers work 40 hours per week, and that the three jobs have to be completed within a week.
[bookmark: Ch10]Chapter 10
1. (3/28/01) The reference to Howard about 3/4 of the way down page 544 is the wrong reference. It should be "Decision Analysis: Practice and Promise", Management Science, Vol. 34, No. 6, pp. 679-695, June 1988 (still by Howard). 
1. (3/28/02) In problem 23, page 531, the wording of the sentence "If C&B chooses not to market this new brand,..." is misleading. The "not" should be omitted. 
1. (12/16/02) In part b of problem 25 on page 532, the 0.680/0.725 probability should be the probability of a strike not occurring. Also, in the solution file for this problem, there is a cell comment warning of this error. However, the cell comment refers to problem 6.43. It should refer to problem 10.25. 
1. (11/28/2003) The wording of problem 27 on page 538 isn't as explicit as it could be. Although it is not stated, the assumption is that the probability of a false detection is 0. That is, an inspection will never detect a problem when there is no problem. 
1. (1/25/2004) There is a subtle error in the statements of problems 19, 20, 22, and 23 on pages 531-532. If A is an event and B is an information outcome, then the law of total probability requires that the prior probability of A must satisfy P(A) = P(A|B)P(B) + P(A|not B)P(not B). In these problems we've given all of the probabilities on the right-hand side of this equation, but we've also given the prior probability of A, and it does not equal the right-hand side of the equation. Therefore, the priors should be changed as follows. When these changes are applied to the solutions we've supplied, the solutions will change accordingly -- and make more sense. 
4. Problem 19: Change the prior probability that the field contains oil from 50% to 48%. 
4. Problem 20: Change the prior probabilities for the maintenance cost of the first machine from 0.35, 0.35, and 0.30 to 0.325, 0.475, and 0.20. (Also, to make this problem more interesting, we suggest that you change the purchase cost of the first machine from $4500 to $3100.) 
4. Problem 22: Change the prior probability that Penn State will win from 0.50 to 0.475. Also, the solution to this problem doesn't match the problem statement exactly. The solution implies that Hank has only two options, to bet on Penn State or not bet at all. If you want to allow Hank to bet on either Penn State or Michigan, then you should change the solution accordingly. 
4. Problem 23: Change the prior probability that the new toothpaste will succeed from 0.55 to 0.50.
[bookmark: Ch11]Chapter 11
1. (4/16/01) There are evidently some minor differences between a few of the @Risk screen shots in the book and the screens you see when you run @Risk. Please don't agonize about these -- I was basing my screen shots on a beta version of the product, and it evidently changed a bit later on.
[bookmark: Ch12]Chapter 12
1. (4/16/01) Problem 7, page 643, says that lifetimes are lognormally distributed, whereas the solution file uses normally distributed values. I suggest RiskNormal functions in the solution to RiskLogNorm functions and rerunning the simulation. (It shouldn't make TOO big a difference to the results.) 
1. (4/16/01) In problem 9, page 643, it is better to use 0.3 and 0.6, respectively, for the activity S and L standard deviations. (The solution uses these values.) Also, the problem doesn't specifically say that the activity times are normally distributed, but this distribution is used in the solution. 
1. (4/16/01) In step 7, page 652, the subtracted SUM should have argument D37:D41. This same error is in the CashBal.xls file on the CD-ROM. 
1. (7/18/01) The file for Example 12.3 was inadvertantly omitted from the CD-ROM. You can download it here: Wozac.xls 
1. (5/29/02) The solution to problem 29, page 670, doesn't quite match with the problem statement. Specifically, the last bullet in the left column on page 670 states that sales in period t depends on n, the number of competitors at the end of period t-1. However, the solution adds the number of new competitors, plus the previous number, as n. To make the change, just modify the formulas in row 50 in the obvious way. 
1. (10/16/02) The solution to problem 56, page 707, lists 7 companies, the first of which corresponds to RCO. According to the problem statement, RCO has 7 competitors, so the solution should actually list an eighth company. 
1. (11/13/02) The solution to problem 54 has an error. Basically, you can't sell more than capacity. 
1. (4/26/04) In Case 12.3, pp. 712-173, bullet point 2 in the left column of page 712, it should state: "Each year, fixed assets at cost equals depreciation plus fixed assets."
1. (3/20/2006) In Table 12.17 on page 678, the entry in row 2, column 3 should be 0.65, not 0.60.
1. (3/29/2006) The screenshot in Figure 12.43 on page 679 doesn't quite correspond to the Brownie.xls completed file. Row 23 of the screenshot has been deleted in the file, which makes all rows references from that row down off by 1.
[bookmark: Ch13][bookmark: Ch14]Chapter 14
1. (9/25/00) The data table in Figure 14.9, page 785, is for the expected number in queue, not time in queue. The link in cell B23 should be changed to cell B18 if you want the expected time in queue. Here's an updated graphic file: Fig14_09.gif. 
1. (4/16/01) The first full paragraph on page 785 should begin "The postal manager ..." 
1. (11/20/02) The MultServerSim.xls file doesn't allow a warmup time of 0, and it probably should. This update does, and otherwise it is exactly as before: MultServerSim.xls.
[bookmark: Ch15]Chapter 15
1. (10/23/02) The data file for the Dupree case (case 15.4) has 67 observations, whereas the solution sent to instructors has a different data set with only 40 rows. Please use the latter, which you can download from here: Dupree.xls. 
1. The data file P15_11.xls for problem 11 on page 843 is the wrong file. You can download the correct file here: P15_11.xls.
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